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Sumar y restar decenasy centenas Nombre:
Resuelve cada problema.
560 + 10 = 312-10= 792 + 100 = 622 - 100 =
602 + 10 = 66-10=_ 291 + 100 = 736 - 100 =
976+ 10 = 906 - 10 = 668 + 100 = 978 - 100 =
409+ 10= 749-10= 847 + 100 = 771-100=
557 + 10 = 483-10= 851 + 100 = 531-100=
902 + 10 = 451-10= 200 + 100 = 253 - 100 =
16+ 10= 927-10= 80+ 100 = 891 - 100 =
527 +10 = 612-10= 697 + 100 = 808 - 100 =
379+10= 110-10= 807 + 100 = 184-100=
546 + 10 = 30-10= 762 + 100 = 727-100=
276+ 10 = 677-10= 191 + 100 = 873-100=
609 + 10 = 231-10= 108 + 100 = 230- 100 =
601+ 10 = 943-10= 890 + 100 = 791-100=
100+ 10= 676-10= 551 +100 = 589 - 100 =
396+ 10 = 588-10= 239+ 100 = 180- 100 =
453 +10= 669 - 10 = 166 + 100 = 784 - 100 =
237+ 10= 883-10= 621 + 100 = 840 - 100 =
765+ 10 = 441 -10= 353 + 100 = 629 - 100 =
1+10=_ 896 - 10 = 146 + 100 = 144-100=
918+ 10 = 327-10= 660 + 100 = 116-100=
763+ 10 = 493-10= 573+ 100 = 561 - 100 =
105 + 10 = 825-10= 459 + 100 = 491 - 100 =
120+ 10 = 695 - 10 = 190 + 100 = 530- 100 =
345+ 10= 854 -10= 827 + 100 = 692 - 100 =
877+ 10= 620 - 10= 51+ 100 = 993 - 100 =
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Sumar y restar decenasy centenas

Nombre: Clave De Respuestas

Resuelve cada problema.

560+ 10=_ 570 312-10=_ 302 792+ 100=_ 892 622-100=_ 522
602+10= 612 66-10=_ 56 291+100=_ 391 736-100=_ 636
976+10=_ 986 906-10=_ 896 668 + 100=_ 768 978-100= 878
409+10=_ 419 749-10=_ 739 847+ 100=_ 947 771-100=_ 671
557+10=_ 567 483-10=_ 473 851+ 100=_951 531-100=_ 431
902+10= 912 451-10=_ 441 200+ 100=__ 300 253-100=_ 153
16+10=_ 26 927-10=_ 917 80+100= 180 891-100=_ 791
527+10= 537 612-10=_ 602 697 +100=_ 797 808-100=_ 708
379+10=_ 389 110-10=_ 100 807 +100=_ 907 184-100= 84
546+10= 556 30-10=__ 20 762+ 100=_ 862 727-100=_ 627
2716+10=_ 286 67/7-10=_ 667 191+100=_ 291 873-100=_ 773
609+10= 619 231-10=_ 221 108 + 100=_ 208 230-100=_ 130
601+10= 611 943-10=_ 933 890 +100=_ 990 791-100=_ 691
100+10=_ 110 676-10=__ 666 551+ 100=_ 651 589-100=_ 489
396+ 10=_ 406 588-10=_ 578 239+100=_ 339 180-100=__ 80
453+10=_ 463 669-10=_ 659 166 + 100=_ 266 784-100=_ 684
237+10=_ 247 883-10=_ 873 621+100=_ 721 840-100=_ 740
765+10=_ 775 441-10=_ 431 353+ 100=_ 453 629-100=_ 529
1+10=_ 11 896-10=_ 886 146+ 100=_ 246 144-100= 4
918+ 10=_ 928 327-10=_ 317 660+ 100=_ 760 116-100=__ 16
763+10=_ 773 493-10=_ 483 573+100=_ 673 561-100= 461
105+10=_ 115 825-10=_ 815 459 +100=_ 559 491-100= 391
120+10= 130 695-10=_ 685 190+ 100=_ 290 530-100=_ 430
345+10=_ 355 854-10=_ 844 827+ 100=_ 927 692-100=_ 592
877+10=_ 887 620-10=_ 610 51+100=_ 151 993-100=_ 893
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